
6579 6579.5 6580 6580.5 6581
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

2.5

3

3.5

4

4.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6591

6591.5

6592

6592.5

6593

6593.5

6594

6594.5

6595

ru
n

run:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6593}



6579 6579.5 6580 6580.5 6581
cyclenum

154.5−

154−

153.5−

153−

152.5−

us
l_

1X

usl_1X:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

18.6

18.8

19

19.2

19.4

19.6

19.8

20

20.2

20.4

20.6

20.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

103.2

103.4

103.6

103.8

104

104.2

104.4

104.6

104.8

105

105.2

105.4

us
l_

4e
X

usl_4eX:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

10.6

10.8

11

11.2

11.4

11.6

11.8

12

12.2

12.4

12.6

12.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

57.5−

57−

56.5−

56−

55.5−

us
l_

12
X

usl_12X:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6591

6591.5

6592

6592.5

6593

6593.5

6594

6594.5

6595

ru
n

run:cyclenum {run == 6593}



6579 6579.5 6580 6580.5 6581
cyclenum

178.5−

178−

177.5−

177−

176.5−

us
r_

1X

usr_1X:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

24.5

25

25.5

26

26.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

244.5

245

245.5

246

246.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

4−

3.5−

3−

2.5−

2−us
r_

4e
Y

usr_4eY:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

49−

48.5−

48−

47.5−

47−

us
r_

12
X

usr_12X:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6591

6591.5

6592

6592.5

6593

6593.5

6594

6594.5

6595

ru
n

run:cyclenum {run == 6593}



6579 6579.5 6580 6580.5 6581
cyclenum

30027

30027.5

30028

30028.5

30029

us
l_

co
il1

usl_coil1:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6345

6345.5

6346

6346.5

6347

us
l_

co
il3

usl_coil3:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6220.6

6220.8

6221

6221.2

6221.4

6221.6

6221.8

6222

6222.2

6222.4

6222.6

6222.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

1306.8−

1306.6−

1306.4−

1306.2−

1306−

1305.8−

1305.6−

1305.4−

1305.2−

1305−

1304.8−

1304.6−

us
l_

co
il6

usl_coil6:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

22463

22463.5

22464

22464.5

22465

us
l_

co
il7

usl_coil7:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6591

6591.5

6592

6592.5

6593

6593.5

6594

6594.5

6595

ru
n

run:cyclenum {run == 6593}



6579 6579.5 6580 6580.5 6581
cyclenum

27105−

27104.5−

27104−

27103.5−

27103−

us
r_

co
il1

usr_coil1:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

5248.5−

5248−

5247.5−

5247−

5246.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

5484

5484.5

5485

5485.5

5486

us
r_

co
il4

usr_coil4:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

696−

695.5−

695−

694.5−

694−

us
r_

co
il6

usr_coil6:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

21748.2

21748.4

21748.6

21748.8

21749

21749.2

21749.4

21749.6

21749.8

21750

21750.2

21750.4

us
r_

co
il7

usr_coil7:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6591

6591.5

6592

6592.5

6593

6593.5

6594

6594.5

6595

ru
n

run:cyclenum {run == 6593}



6579 6579.5 6580 6580.5 6581
cyclenum

423.4−

423.2−

423−

422.8−

422.6−

422.4−

422.2−

422−

421.8−

421.6−

421.4−

421.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

69.5−

69−

68.5−

68−

67.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

22.5

23

23.5

24

24.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

462.5−

462−

461.5−

461−

460.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

89−

88.5−

88−

87.5−

87−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

23.2

23.4

23.6

23.8

24

24.2

24.4

24.6

24.8

25

25.2

25.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6593}



6579 6579.5 6580 6580.5 6581
cyclenum

179.2

179.4

179.6

179.8

180

180.2

180.4

180.6

180.8

181

181.2

181.4

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

41.5

42

42.5

43

43.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

8.5−

8−

7.5−

7−

6.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

189.6

189.8

190

190.2

190.4

190.6

190.8

191

191.2

191.4

191.6

191.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

19−

18.5−

18−

17.5−

17−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6.5−

6−

5.5−

5−

4.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6593}



6579 6579.5 6580 6580.5 6581
cyclenum

233−

232.5−

232−

231.5−

231−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

87−

86.5−

86−

85.5−

85−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6−

5.5−

5−

4.5−

4−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6

6.5

7

7.5

8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

421.5−

421−

420.5−

420−

419.5−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6593}

6579 6579.5 6580 6580.5 6581
cyclenum

6591

6591.5

6592

6592.5

6593

6593.5

6594

6594.5

6595

ru
n

run:cyclenum {run == 6593}
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